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��� .HVLPSXODQ

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�NDSDVLWDV�RUDQJ�GDUL�VHEXDK�

UXDQJDQ� DWDX� WHPSDW� \DQJ� WHODK� GLXNXU� GDUL� OXDV� XNXUDQ� WHPSDW� WHUVHEXW�

GHQJDQ�PHQHUDSNDQ�VRFLDO�GLVWDQFLQJ��'HQJDQ�PHQHUDSNDQ VRFLDO�GLVWDQFLQJ

\DQJ�PHPLOLNL�MDUDN�DPDQ ��PHWHU�GDSDW�PHQJXUDQJL�WHUMDGLQ\D�NRQWDN�ILVLN�

GDQ�SHQXODUDQ�YLUXV�FRURQD��&29,'�± �����%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�\DQJ�

GLSHUROHK�� GDSDW� GLDPELO� VXDWX NHVLPSXODQ� EDKZD� ZHEVLWH LQL� GDSDW�

PHODNXNDQ� SHUKLWXQJDQ� NDSDVLWDV� RUDQJ� GDODP� VXDWX� UXDQJDQ� GHQJDQ�

PHQHUDSNDQ�VRFLDO�GLVWDQFLQJ��.HPXGLDQ�ZHEVLWH LQL�GDSDW�PHODNXNDQ�SURVHV�

SHUKLWXQJDQ�VHFDUD�ODQJVXQJ�GDQ�MXJD�GDSDW�PHPDQWDX�MXPODK�RUDQJ�GDODP�

UXDQJDQ�WHUVHEXW�VHVXDL�GHQJDQ NDSDVLWDV \DQJ�WHODK�GLWHQWXNDQ��

��� 6DUDQ

$GDSXQ EHEHUDSD�VDUDQ�\DQJ�GDSDW�GLEHULNDQ�XQWXN�SHQJHPEDQJDQ�NH�

GDODP�ZHEVLWH NH�GHSDQQ\D�\DLWX��

�� 'DODP�SHQJHPEDQJDQ�VHODQMXWQ\D�GLKDUDSNDQ�GDSDW�PHODNXNDQ

FRXQWHU GHQJDQ�PHQJJXQDNDQ�DODW�VHSHUWL VHQVRU�DWDX�GHQJDQ�LG�

FDUG SHQJXQMXQJ�\DQJ�WHODK�GLEXDW�WHUOHELK�GDKXOX�SDGD�WHPSDW�

WHUVHEXW�



��

�� 'LKDUDSNDQ� GDSDW� PHQDPEDK� NHPDPSXDQ� NDONXODWRU� VHSHUWL�

PHQDPEDKNDQ� MHQLV� XNXUDQ� ODLQQ\D� VHKLQJJD� GDSDW�

PHQ\HVXDLNDQ�MHQLV�WHPSDW�DWDX�VXDWX�ORNDVL�\DQJ�PHQJJXQDNDQ�

MHQLV�SHQJXNXUDQ�\DQJ�EHUEHGD�


